DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

T.B.C. : 20/15/ET Booklet Sr. No. .... X

0001
TEST BOOKLET

HISTORY
PAPER II

Time Allowed : 11 Hours] ' [Maximum Marks : 100

All questions carry equal marks.

~

o

INSTRUCTIONS
Write your Roll Number only in the box provided alongside.
Do not write anything else on the Test Booklet.
This Test Booklet contains 50 items (questions). Each item comprises four responses (answers),
Choose only one response for each item which you consider the best,
After the candidate has read each item in the Test Booklet and decided which of the given
responses is correct or the best, he has to mark the circle containing the letter of the
selected response by blackening it completely with ball point pen as shown below. H.B.
Peneil should not be used in blackening the circle to indicate responses on the answer
sheet., In the following example, response “C” is so marked :

®@ ® @ ©

Do the encoding carefully as given in the illustrations, While encoding your particulars
or marking the answers on answer sheet, you should blacken the circle corresponding to
the choice in full and no part of the circle should be left unfilled. You may clearly note
that since the answer sheets are to be scored/evaluated on machine, any violation of the
instructions may result in reduction of your marks for which you would yourself be responsible.
You have to mark all your responses ONLY on the ANSWER SHEET separately given.
Responses marked on the Test Booklet or in any paper other than the answer sheet shall
not be examined. Use ball point pen for marking responses.

All items carry equal marks. Attempt all items.

Before you proceed to mark responses in the Answer Sheet fill in the particulars in the
front portion of the Answer Sheet as per the instructions.

After you have completed the test, hand over the OMR answer sheet to the Invigilator.
In case of any discrepancy found in English and Hindi Version in this paper, the English
Version may be treated as correct and final.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

1 P.T.0.



HISTORY
Paper 11
Time Allowed : 1;1- Hours) Maximum Marks : 100

" Note — This question paper consists of fifty (50) questions with multiple choice

answers. Each question carries two (2) marks. Attempt all questions.

1. Who among the following pulled down the original stupas and re-erected them

as per the tradition ?
(A) Chandragupta Maurya (B) Ajatashatru
(C) Bimbisar (D) Ashoka
2. Identify the Vishvakarma Shrine at among the following :
(A) Bhaja (B) Karle
(C) Ajanta (D) Kanheri

3. Painting is identified as one of the sixty four Kalas (fine arts) in one of the

texts given below :
(A) Brihatasamhita LY (B) Kamasutra
(C) Vishnudharmottara (D) Mudrarakshasa
4. Identify among the following the commentator of Vatsyayana's Kamasutra :
(A) Bhasa (B) Buddhaghosha
(C) Kamandaka (D) Yashodhara

T.B.C. : 20/15/ET—II 2
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wvE-aA I

PR (ot - 100

AE : TW WA-I9 | 9uW (50) FEfadedd v ¥ | WeE WA S o (2) s & ot
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4,

WA ® IW qfed )

de TN & e Fefaten § F e ge w1 ggees : fifie a2
(A) w=Za T (B) Ay

(C) fafEsr (D) 3=

frefafaa § 4 wemifo fe fovasst = afey == ¥ 2

(A) sr=i (B) =

(C) 3F=rFm (D) =t

Frafafas 7 # 4 fFg w 3 fswen #1 S Fonedl o o gg=9m ™ & 2

(A) FEqEfe (B) A
(C) feroemian (D) TERIEE
frofafan § § aKomR & SOEE § AEEE F TwEH ST
(A) 9rg (B) FgHH
(C) FH=<® (D) =R

T.B.C. : 20/15/ET—II 3 P.T.O.



5. Charaka was the Rajavaidya of :
(A) Ajatashatru
(B) Chandragupta Maurya
{C) Kanishka
(D) Harshavardhana

6. Identify among the following the Buddhist site with Buddha's ashes in an

inscribed casket in Gujarat :
(A) Bhattiprolu (B) Kapilavastu
(C) Nagaxj;xnakonda (D) Devni Mori
7. In which of the following inscriptions Ashoka ensures the coexistence of pluralities
in society ?
(A) Rock Edict IX
(B) Rock Edict X
(C) Rock Edict XI

(D) Rock Edict XII

T.B.C. : 20/15/ET—II 4



5. W& TSET 91 :
(A) =T &l
(B) 9=a W4 &

- (C) wiTew
(D) THasa =

6. Frfafas § & Tom § 39 dig @ 31 ggEn Fifoe Wl ¥ wF IeRiiie dem
I3 & WEEYY Hiea U ¥ o

(A) Wi (B) fyerasg
(C) TSRS (D) & At

7. Trefofea # 4 fem sfvea 9 s v ¥ agam & we-vfem gfifvss Fw@
g ?

(A) TSR IX
(B) T e X
(C) T=mEm X1

(D) T=mEn X1

T.B.C. : 2011 5/ET—II 5 P.T.O.



&  Match the dances of List-I with the creators of List-Il and select the correct
answer from the codes given below :

List-I List-I1
(a) Rasa (z) Shiva
(b) Tandava () Parvati
(¢) Hallisa (zif) Gopis
(d) Lasya (iv) Krishna
Codes :

(a) (b) (c) (d)

(A) (i) (@) (i) (zit)
(B) (i) (i7) (2) (iv)
() (zt) (i) (i) (z2d)
(D) (z) (i) (§773) (i)

9. Match the books of List-I with the authors of List-1I and select the correct
answers from the codes given below :

List-I List-11
(@) Natya Shastra (i) Shilalin and Krisashava
(b) Natya Sutra (i) Bhasa
(¢) Swapnavasavadatta _ (izi) Sariputraprakarana
(d) Ashvaghosha (tv) Bharata
Codes ;
(a) (b) (e) (d)
(A) () (z2i) (i7) (2)
(B) (iv) (¥) (22) (#i1)
(©) (iii) (&%) (z) (iv)
(D) (¢id) (iv) (i1) (£)

T.B.C. : 20/15/ET—I1 6



8. HA-1#H o FFgAR-11 & wmmansll § gafew Fifaw aor 9 73 92 @ af sw
F =TI FT

-1 geit-11
(a) TH ‘ (i) Tm=
(b) TvEH (i) O
(¢) Bfcer (i) TifaEr
(d) &g (iv) =
He
(a) (b) (¢) (d)
(A) (iv) (@) (i) (iif)
(B) (iii) (i) (i) (iv)
(C) (i) (i) (iv) (i)
(D) (i) (iv) (tii) @D

9. FE-1# T -1 % wfaasd & wy gifea S oo 59 &3 32 3 wd
I W FIH Fifew g

-1 gei-11
(@) AR () TEfes § HwE
(b) HEIHA (@) W™
(c) TEHIHEZT (iff) STgHEETT
(d) 3TegE (v) T
H®T

(a) (b) (c) (d)
(A) (iv) (#id) (it) (1)
(B) (iv) (i) (£) (41)
(C) (i) (i) (1) (iv)
(D) (iii) (iv) (1) (©)

T.B.C. : 20115/ET-—I1 7 P.T.O.



10. Match the books of List-I with the authors of List-II and select the correct
answer from the codes given below :

List-1 List-II
(@) Vikramorvashiya ' (/) Harsha
(6) Mricchhakatika (@) Kalidas
(¢) Nagananda (iiz) Shudraka
(d) Kuttanimata . (iv) Damodaragupta
Codes :

(a) (b) (c) (d)

@ @ @ O G
(B) (izz) (z2) (iv) (@)
(© (iv) (ii1) () (2)
(D) (zd) (tv) (¥) ()

11. Match the four Vedas of List-I with their respective recitors of List-I1I and select
the correct answer from the codes given below :

List-I List-I1
(@) Rigved () Udagatri
(b) Samaved i) Hotri
(¢) Yajurved (¢i7) Brahmana
(d) Atharvaveda (iv) Adhvaryu
Codes :

(a) (b) (e) (d)

(A) (iv) (i) (& (i)
(B) (#ir) (iv) (id) (@
(C) (ir) (@ (w)  Ga)
(D) (2) (ii7) (7t) (iv)

T.B.C. : 20/15/ET—I1 8



10. gEt-1 % i & g=-11 % EfEaE & gy gafen e an F9 &2 =2 3 9@
manz,wa?rﬁrq:

i1 . HEt-11
(a) oot () =d
(b) g=owicH (it) “HifeeE
() M= (iit) IEH
(d) =g (fv) THETTA -
%< :

(@) (b) () (d)

(A) (if) (iii) ) (iv)
(B) (iii) (if) (iv) (i)
(C) (iv) (iif) (i) (i)
(D) (iii) (iv) ) (if)

5 gaﬁl%maﬁﬁqﬁ—n%ma%mugﬁmaﬁﬁqamﬁﬁﬁ@%
@ IW W 9FF FIWGC

a1 w11
(a) &% ' (i) R
(b) wHaE (@) 2
(¢) HHHIR (i) T
(d) =wde (iv) g
T
 (a) ®) () ()

(A) (iv) (@) @ (i)
(B) (&di) (iv) (i2) (z)
(C) (i7) (£) (iv) (#if)
D) @ £223) (iz) (iv)

T.B.C. : 20/15/ET—II 9 P.T.O.



12. Match the books of List-I with the authors of the List-II and select the correct
answer from the codes given below :

List-I List-II
(@) Lilawati (i} Dandi
(b) Brahma Siddhant (i) Bhashkara-II
(¢) Awanti Sundari (1iz) Brahamgupta
(d) Purva Mimansa (fv) Kumarilbhatta
Codes :

(@) (&) (e) (d)

(A) (u1) (iz) (&) ()
(B) (iv) (222) () (@)
(C) (if) (#t) (¥) (v)
(D) () (i) (121) (i)

13. Arrange the following in chronolgical order and select the correct answer from
the codes given below :

(#) Olduwan (iz) Megaliths
(izi) Cemetery-H .Y (iv) Rangamahal
Codes :

(A) (i) (i) (if) (z)

(B) (i) (iii) @) (if)

(C) (@) (eit) (i2) (iv)

(D) (@) () (iv) (iF)

T.B.C. : 20/15/ET—I1 10



12, HE-1 # T A G-I aEw & Wy gatem St qa A 3 a2 | wE
IW W I &I

-1 qer-11
(a) et (i) <uEt
(b) @m ez (i) wreRt-11
(c) T&=l =il (iif) FEPTA
(d) g8 W= (iv) FAREWE
wHE :

(@) (b) (c) (@)
(A) () (i) @) (iv)
(B)  (iv) (idi) (if) @
() (i) (iii) (i) (iv)
(D) (i) (iv) (i) (if)
13, frefafEa & SOHTEER FEted e g 2 7 T 5z 3 9@ IW = 9w
I
(i) @egam (if) FTEIITRIITE
(i) Hfawr-T= (i) TTEE
w%e .
(A) (ifi) (iv) (id) (i)
(B) (iv) (iti) (@) (i)
(C) @) (i) (if) (iv)
(D) (if) @) (iv) (iid)
11 P.T.O.
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14. Arrange the following in chronological order and choose the correct answer from

the codes given below :

(7) Mahajanapada (i) Janapada
(tiz) Rashtra (iv) Jana
Codes :

(A) () ® (iii) (i)

(B) @) (&) (2) (iv)

(C) ) (iv) (@it) (&)

D) Gw) (i) (¥) (ziz)

15. Arrange the following in chronological order and choose the correct answer from

the codes given below :

(i) Bhaja (i) Karle
(iiz) Ellora (iv) Ajanta
Codes :

Ay @ (i) (iit) (iv)

(B)  (iv) (#i) (i) (i)

c @ (i) (iv) (idf)

D) () (2 (i£0) (iv)

T.B.C. : 20/15/ET—I1 12



14, FrefefEs € FEFEAER Zaftgd S ag 4= & ™ 72 § 7 s w5 99
HifAT

(1) WeEsATR {(f1) AU
(i) T (fv) SH
’G{é’ g

(A) ) (&) (iid) (i)
(B) () (iL) @ (iv)
() (@ (i) (zz) (z)

D () (e2) (¥) (i)

15. Frefafas 91 FeEaHEn gifaa Fifaw ao 2 &3 ™ 952 F 9é s w99
wifaw

() )
(i) T (i)
e

A @ G) G G

(BY  Gw) (iid) (iz) (1)

e @ (i) (iv) €273

D) @ (2) (i21) (i)

T.B.C. : 20/15/ET—II 13 P.T.0.



16. Assertion (A) : There is no evidence of urban activities during the Painted

Grey Ware period.

Reason (R) : Use of iron tool technology was not very helpful in the

prevailing natural conditions.
Codes :
(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong.
(C) (A) is wrong and (R) is correct
(D) (A) is correct and (R) is wrong

17. Assertion (A) : There is tremendous increase in the number, size and thickness

of the cultural deposits of settlements in Kushana period.
Reason (R) : Available copper tools played a decisive role in this context.
Codes :
(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong.
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct

T.B.C. : 20/15/ET—II 14



16. HET (A) : fafy@ gER @S FE F FHF w1 FE Heha T8l 6
HAUT (R) : 39 aga # wye uifefad § & aede g9gd gweE e 4t
H :

(A)zﬁi(A)%(Rmﬁ%u
(B) EFi (A) & (R) 7&1d &I
(C) (A) o & & (R) Wal ¥

(D) (A) T& & 7 (R) Te@ B

17. w9 (A) : HOW Fe § FRIE F1 HEq, AHR F FEpan w0E § 65 904
® %

HOT (R) : 9% & 39erd ol ¥ 39 ged #§ foifgs gfasr Fad)
wHe

(A) TFi (A) & (R) =&t %)

(B)zh‘i(A)aq{)naa%l

(© (A) 56 & g (R) 7@

(D) (A) Toa ¥ fEg (R) ®& 7

T.B.C. : 201165/ET—II 15 P.T.O.



18.

19.

20.

21.

French East India Company's headquarters was at :

(A) Calcutta ~ (B) Goa

(C) Pondicherry (D) Diu

In contempt European travellers called tﬁe Hindus :

(A) Moorish (B) Kafirs

(C) Firangis (D) Gentiles
Fatawa-i-Jahandari was written by :

(A) Shams-i-Siraj Afif (B) Ziauddin Barani
(C) Hasan Nizami (D) Amir Khusrau

Who among the following Europeans has written about the state of Education

of Mughal princes and princesses during Akbar's period ?
(A) Father Monserrate (B) Sir Thomas Roe

(C) Manucci (D) Bernier

T.B.C. : 20/15/ET—II 16



18,

19.

20.

21.

wiEHd = 3fvew w1 geEen @

(A) FeTHwl (B) T

(C) wifvg=d D) |7

FdE g gareRr g e g w ow g 4 2

(A) (B) =iT#

(C) T (D) Sf==

TAAT-U-wEen  fwed g faet w2

(A) T -U-faust wE (B) Toaseg= =+t
(C) g femft (D) =R TEA

Frefafas § 4 59 90dg 3 s & o@ 3 el wd yeanfedl =1 & S A

foen @ & &1 avls R & 2
(A) TR A (B) &7 9fgqg @

(C) Hg=t (D) =R

T.B.C. : 20115/ET—II 17 P.T.O.



22. Amir Khusrau is known to have innovated the musical instrument :
(A) Flute _ (B) Tabla
(C) Sarangi (D) Sitar
23. In 1591, a new city Hyderabad was founded by :
(A) Emperor Akbar
(B) Sultan Muhmmad Quli
(C) Prince Salim
(D) Mughal nt;ble Asad Khan

24. The chief of Kangra accepted Mughal Emperor Jahangir's suzerainty and he

was assigned the mansab of :
(A) 500/500 (B) 1000/1000

(C) 2000/1500 (D) None of these

T.B.C. : 2015/ET—I1 18



22. iR gEd I fEw Wit T 4% @ @9 57 2
(A) =i (B) waen
.(C)mi'fh (D) faar

23. 1591 ¥ fFER U R REER F owewm w2
(A) &EIME Y=
(B) e HEwR et
(C) gaus |em™
(D) ¥T& FEL HYE =@H

24. FF F TH A T wEF TR F T Whew w1 o i 3y Tww T

qr .
(A) 500/500 (B) 1000/1000
(C) 2000/1500 (D) =8 q =€ 75

T.B.C. : 20/15/ET—II 19 P.T.O.



25. Akbar as per the regulations regarding education emphasized to learn :
(A) Sanskrit
(B) Vyakaran and Nyaya
(C) Vedanta and Patanjali
(D) All the above disciplines

26. The concept of Charbagh was brought to India by :
(A) Turks (B) Mongols
(C) Persian (D) Mughals

27. Which of the following pairs is not correct ?

(A) Madanush Shifa'-i- ~  Medical Science
Sikandarshahi

(B) Dewal Rani Khizrkhani —  Historical Romance

(C) Ghunyat-ul-Munya —  Political theory

(D) Miftah-ul-Fuzala —  Dictionary

T.B.C. : 20/15/ET—I1 20



25. oz ¥ vty waum @ oER o 7 e 4 8 feest e 0 W 9@ fem?
(A) H&Fd
(B) =W U =74
(C) ¥ W@ e
(D) 39T [l
26. WHAT HI FEAURN HRG H HH @E ?
(A) T* (B) e
(C) ¥t (D) g

27. fre 4 @ F9-w g T A ¥

“J

(A) v fre-u-faaeoomdt - fafsen faam

(B) dae Tt fasmart SR (e L
(C) TATA-3A-HAT - Tt fagr
(D) forTg-ze-vgarer - EERN

T.B.C. : 20/15/ET—II 21 P.T.0O.



28. Which of the following works of the Mughal period is a translation of Upanishads ?
(A) Safinat ul Auliya
(B) Sirr ul Asrar
(C) Rugqqat-i-Alamgiri
(D) Tawarikh-i-Alfi
29. Atala mosque at Jaunpur was built by :
(A) Bahmani Sultans
(B) Khalji Sultans
(C) Sharqi Sultans
(D) Lodi Sultans
30. Qalandars in medieval India were :
(A) Wantiering Darvishes
(B) Preachers of Islamic law
(C) Keepers of mosques

(D) Keepers of Madarsas

T.B.C. : 20/115/ET—I11 22



28. U9 ®E F WU H { FA-W TY AR w1 FER §O?
(A) ®%IFa 3& shfen
(B) faf 37 3w
(C) TFRTG-T- ST
fD)aarfra—tz—m
29. SRR # syen wiewg w1 frfo e 9 .
(A) TETA Gearl 3
(B) faesit gemt 3
(C) vl |earl 3
(D) & geard 3
30. HEFER YR H FoAI B 9 ?
(A) 99 (Wandering) 3T&%
(B) $=TH! FA & WARH

(C) #fer ® TEEm

(D) #ETEl & TEEe
T.B.C. : 20/115/ET—II 23 P.T.O.



31.

32.

33.

Pietra dura, the inlaying of precious, semi-precious and coloured marble stones

to create designs used in Mughal architecture was first used in :
(A) Greece

(B) Egypt

(C) France

(D) Ttaly

Which of the following Sultans of Delhi tried to prohibit wine drinking

unsuccessfully ?

(A) Sultan Balban

(B) Sultan Firuz Tughlaq
(C) Sultan Sikandar Lodi
(D) Sultan Alauddin Khalji

Buland Darwaza at Fatehpur Sikri was built by Akbar as a mark of victory

of :
(A) Malwa (B) Mewar
(C) Kashmir (D) Gujarat

T.B.C. : 20/15/ET—II 24



81. =1 U, qeT SrEgwen 3 fewgd w9 # wgFa @fga Fiadl, AS-FHdr 991 i G966
e WaAgYw yar f&a ma o

(A) g H
(B) fom &
(C) wra ¥
(D) ze=f |

32. Frefefad 4 8 Gl & 9 goam 3 W@ 71 W UEE @ &1 S9%a 999
foar a1 2

(A) &= Feia
(B) geam frlg ques
(C) goo faw<t &

(D) e Hensga fagersi

33. #FFAT A HwaeR HHd J gee gE™ w1 v e Geg fag & 9 § @

q1 ?
(A) WA (B) Tars
(C) HYR (D) T

T.B.C. : 20/15/ET—II 25 P.T.O.



34. Which one of the following pairs is not correctly matched ?

(Source)

(A) Humayunnama

(B) Tabgat-i-Akbari

(C) Padshah nama

(D) Futuhat-i-Alamgiri

(Author)

Gulbadan Begum
Nizamuddin Ahmad
Abdul Hamid Lahori

Mirza Muhammad Kazim

35, Arrange the following in correct chronological order :

(1) Ryotwari Settlement

(2) Auctioning system

(3) Mahalwari Settlement

(4) Permanent Settlement

Select the correct answer from the codes given below

(A) 4, 3,1, 2

(B) 2,4,1,3

(C) 1, 3, 4, 2

D) 2, 4, 3,1

T.B.C. : 20/15/ET—II

26



34. Prefafaa g § § @9 g wd gafem =@ & 2

wra wEaw
(A) g THEET AT
(B) doHa-U-3Hail s s
(C) TEeImeTH FEe BHIG wen
(D) Hea-0-STeTHm fosl garg wifsm

35. frefafaa #1 FEFIHeR @ =aftga wify
(1) ¥zrardl sEEE
(2) e e
(3) WEREE WEE
(4) Tt wgERa
42 R 7 w2 g9FG § | W TR F 999 Fifaw .
(A) 4, 3,1, 2
(B) 2,4,1,3
(©) 1,38,4,2

(D) 2,4, 3,1

T.B.C. : 20115/ET—II 27 P.T.O,



36. After which Anglo-Mysore war Tipu Sultan was forced to surrender half of his

territory ?
(A) First Anglo-Mysore War

(B) Second Anglo-Mysore War
(C) Third Anglo-Mysore War
(D) Fourth Anglo-Mysore War

37. As far as the Revolt of 1857 is concerned from where did the affair of the greased

cartridges begin :

(A) Barrackpore (B) Ambala

(C) Meerut | (D) Kanpur
38. Who was the author of Nil Darpan 7

(A) Nai:agopal Mitra

(B) Dinabandhu Mitra

(C) Bankim Chandra Chatterjee

(D) Girish Chandra Ghosh

T.B.C. : 20/15/ET—I1 28



36. ®M ¥ Afe-TgT g5 & AN 49 GO F AT A U G § ol ana e

™ ?

(A) yum FHire-9gT g%
(B) fadta sife- 43
(C) g #Hta-T9T g%
(D) w4 sife-Teg 7%

37. W 1857 ® fade & waw § weigR FRGE F AWen W S g ?
(A) Y (B) aamen
(C) W3 | (D) =AY

38. et qUUT W FEEm FA @1 ?

(A) =armrer fas
(B) ==y fax
(C) AfFa==s =i

(D) fritvre=s 9w

T.B.C. : 20/15/ET—II 29 P.T.O.



39. In which of the following states did both the Ahom revolt and Khasi risings

take place ?

(A) Assam

(B) Bengal

(C) Manipur

(D) Tripura

40. Poona Sarvajanik Sabha was founded in :

(A) 1828 (B) 1870

(C) 1876 (D) 1875

41. Indian National Congress was founded during the Viceroyalty of :

(A) Lord Mayo

(B) Lord Ripon

(C) Lord Dufferin

(D) Lord Lansdowne

T.B.C. : 20/15/ET—II 30



39, Frefafea o ¥ fFe =0 4 s°W fagw aw @ fawa g ?
(A) 379

(B) =&

(C) =forg

(D) fagqu

40, g0 GEwEfEE w@W oA = g o
(A) 1828 # (B) 1870 H
(C) 1876 H (D) 1875 #
41, T TG I W 9 T H0E FOwEe g o
(A) @rE 54
(B) =€ fiud
(C) w8 THIA

(D) =2 FaEE

T.B.C. : 2015/ET—11 31 P.T.O.



42. In the year 1893 there was split in Arya Samaj. What were the key issues

behind it ?

(f) Shuddhi and Sangathan

(i1} Meat eating versus vegitarianism

(127) Anglicised versus Sanskrit based education
(iv) Cow Protection

Select your answer by choosing correct codes :
(A) (iii) and (iv)

(B) () and (2id)

(C) (i) and (iz)

(D) (ii) and (iv)

43. In which year the Punjab Land Alienation Act restricting transfer of peasant

property to urban moneylenders was pasged ?
(A) 1894 (B) 1901

(C) 1904 (D) 1907
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42, m1s93ﬁwﬁmmﬁr‘nﬁz‘lw1w¢tﬂ%maﬁwﬁ.?
(@) fe 3k Fwed
(i) HIHER & HER
(i) el &M Hema i foen
(i) TeEn
TE W2 T TG99 W gL s T T+
(A) (iii) and (iv)
(B) (i) and (iti)
(C) (it) and (zi7)
(D) (i) and (iv)

43. e &z ufene T faee oER fRem @ wwlt wOwed WREn w ewie

whrafem @x e w91, feg @ wRa gen ?
(A) 1894 (B) 1901

(C) 1904 (D) 1907
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44. What was the main political weapon of the Moderates in their agitation

against the Partition of Bengal ?
(A) Swadeshi and l?oycott
(B) Civil Disobedience
(C) Non-Co-operation
(D) Satyagraha
45. Arrange the following events in the correct sequence ;
(i) Ahmedabad Mill Strike
(ii) Rowlatt Act Agitation
(i) Khera Mc;vement
(iv) Champaran Movement
Select the correct answer from the codes given below :
(A) Gv), (zid), (i) and (&)
(B) (iv), (@), (iii) and (i)
(C) (idd), (i2), (iv) and (@)

(D) (@), (i), (tw) and (&)

T.B.C. : 20/15/ET—II 34



44, A # favre & fasg = d@wd § W T g w1 W@ TEA0e TR 5=

q ?
(A) 29T a9 ATEERH
(B) AR Ham
(C) FEEm
(D) Hems
45, Ta=fafEa =) of #w d =afiga siEg
(i) zrEHeER e FEaE
(i) Tee w= % faiy
(i) HE =
(jv) FEIIOT AR
freforfios %21 #t w@P@ |} W8 IW F T F9C
(A) (v, (@dd), (1) T91 (if)
(B) (i), (i), Gid) 30 (i)
(C) @), (D), (iv) 9491 (i)

(D) (D), (i), (iv) a4 (i)
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46. The Royal Indian Navy mutiny in Bombay started on :
(A) 18th February, 1946
(B) 18th February, 1945
(C) 18th March, 1947
(D) 18th April, 1944
47. Mohammad Ali Jinnah launched Direct Action Day on :
(A) 16th July, 1946 (B) 16th August, 1946
(C) 14th Auéust, 1947 {D) 1st October, 1937
48. With which one of the following Diplomatic history is closely associated ?
(A) Political History
(B) Economic History
(C) Legal History

(D) Social History
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46, WA v A-E @ faEw @md # yw gen
(A) 18 WTadl, 1946
(B) 18 Wi=dl, 1945 1
(C) 18 Wi, 1947 FI
(D) 18 37e1, 1944 HI
47. HER el e ¥ ‘v weEd Tew' ey o
(A) 16 @1, 1946 (B) 16 0T&d, 1946 &)
(C) 14 21T, 1947 (D) 1 #F&EEL, 1937
48. wftfas sfem frafafas 7 § fawsd @y afrsa § gafaa § 2
(A) Tifas sfaem
(B) wnfds sfaer

(C) aufs sfaem

(D) umfes 3fasms
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49.

50.

In which country did the Parliamentary democracy, as a form of government,

originate ?
(A) India

(B) Canada
(C) Britain

(D) France

Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : The dastaks or passes were given to the East India Company

as trade concessions.
Reason (R) : These were suéposed to improve the Indian handicrafts industry.
In the context of the above statements which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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49. == & ®1 § Wud w0 & k27 fEw 2w A gen 2
A uEa
B) Fra
(C) T
(D) W=
50. = ¥ weq B M §, UH | AW (A) T TH F HAOUT (R) Fa O E .
HIT (A) : TEF W I A fomd & v 8 f= sfrem s = fed m oA
FOT (R) : 3100 =7 R 4 B 79 W waives @M s gam 2
IE aEaEl & we d frefafen 4 4 Fh-m w@ § 2
(A) i (A) 39 (R) =A@ ¥ @R (A) W wE = (R) B
(B) =Ml (A) @41 (R) @& ¥ 93 (A) =1 §&t =& (R) 76 &
(C) (A) ®&1 & W (R) 7o &)

(D) (A) T % 9Tg (R) 58 %)
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